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No. of Questions : 150
Tl &t §EAT : 150
Time : 2 Hours Full Marks : 450

qay ; 2 U QuifE : 450

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question.

ﬁwﬁwwﬁaﬁwmﬁwmaﬁuﬁawsﬁﬁﬂﬁw?:
Tela T 3T & (o1 U ik 12T ST TS Aia 9
WWiE J=T 2

(2) ¥ more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

e Ui debfeus It 981 I & e wdid &, & feean T S|
4

01. Which of the following concepts is used for the analysis of cardinal
approach of consumer's equilibrium ?

(1} Indifference curve (2) Equi-marginal utility
(3) Maximum output of the good (4) None of the above

%chﬁn%m IYR- G i = & fag = o

(1) SeEHS a% (2) wO-Hora SRR

(3) I Afam IR (4) ITF § § wE T
02. The Law of Diminishing Marginal Utility is also known as :

(1) Marshall's Second law (2) Jevon's law

(3) Gossen's first law (4) Gossen's second law

3 P.T.O.
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03.

04.

05.

FIOE G I P o T WE S 9 S @

(1) WA i gEy g (2) e 1 faw

(3) A 1 aem fey (4) TR @ fgdg fram

The relationship between price and quantity demanded is known as -
(1}  Law of price (21 Law of demand

{3) Theory of inflation (4} Theory of aggregate demand

3

T TS TN TR AT ¥ "y i, 39 a8E 9 9 S 8

(11 Hha Fl (2) =M % fm
(3) T =i fagm (4) THm 9 F g

The point of producer's equilibrium is that where :

(1} The marginal rate of technical substitution (MRTS} is greater
than the price ratio.

{2)  The marginal rate of technical substitution (MRTS) 1s less than
ihie price ratio.

(3) The marginal rate of technical substitution (MR
TS) is equal to the price ratio.

(4] Isoquants and 1so-cost lines are separate,

S 1 FeE 39 fag W g, 9E

(1) TEAGE AR ® @ @ (MRTS) #Hd AU § 2afus 2 g

(2) aEfE Wi 9 X (MRTS) $19d 9@ ¥ %5 2l

(3} FEAIfE UfgerR # W9 S (MRTS) §91 G SHIW TH-TH &
A E 2

(4) EHETE AW G- @ STl e gl &

Which one of the filowing does not match, the propertics of indifference
curve ¥

{1)  The slope of indifference curve is negative.
(2) Higher indifference curve shows higher satisfacuons.
(3} Indiference curve can touch axis.

(4} Indifference curves can not intersect each other.
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frafafad O @ #F gewgd ag &) fasmamsll § 89 798 &
(1) oEer a9k 1 @il A Bl 2

(2) T geRedl o, AfuF T F1 famra

(3) TEEAEl o3 28] W1 WY FHT Tehdl o)

(4) TV Tk TI-TIR FI FE AL HHd|

If average fixed cost (AFC) is Rs. 40 and average variable cost is {Aive)
Rs. 80 for a given output, then average total cost (ATC) 1s ¢

{1) Rs. 40 (2) Rs. 120

{3) Rs. 80 (4} Not pussible to determine
et wearer & fer afe s fer 9T (AFC) Fe 40 € SR 2 aftaTsfier
Mg (AVC) Fe 80 ¥, d9 HEd $ed ARG (ATC) g

(1) %o 40 (2) ¥e 120
(3) %o 80 () frofo =on meE

Which one of the following is not a reason behind downward sioping
demand curve ?

(1) Working of law of diminishing marginal utility

(2) Absence of substitution effect

{3) Entrv of new consumers at lower prices

{4) Presence of real income effect

frafafad § € #19, T2 #1 3i FRA g0 G 9, 61 FROTAS § 2
(1) dmre semfE gEeE e s i

(2) Sfacared gurg &1 Tquifa

(3) Y9 B FA W T I F 5a9

(4) <rEdfaer HE H9E Hi Iqfedid

Which onc of the following does not show Price elasticity of demand ?
freafafaa & @ F19, 9 # wmd arg F@ @ gwia ?

Ay ,. Ap‘p
2 pi-Ac L
() T g

gy
Ap'p

Ay ;
(1) 'Sxpf'q (2)

Polw.

on
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09.

i0.

11.

To know the elasticity at a point, by point method, we use the for-
mula :

(1) Lower segment/upper segment
(2) Upper segment/lower segment
{3) Upper segment x lower segment
(4} Lower segment — upper segment

farg i R, el forg w0 o 1Y % T o T AT @ §

(1) Fraen @ve/suiErs

(2) HU4 @ug/fraen wve
(3) S GUE x Faen @ve |
(4) Traen @ue - 374G wWUS

Which one o the followiig does mot measure Cross-elasticity of de-
maind between goods A and B-?

fretfafad & @ %19, 9% A iR B % ofta, Wi 9 ST dm e
g ?

Adbab Agb e

(1) eba= Apa/pa (2) eba= ab XApa
Agqb _pa Aqa/gb

(3) eba= Apaxqb (4) eba= Aqblaa

Which one of the following in more correct, about long run average
cost curve {LAC) ?

(1) LAC is U shaped

(2) LAC is V shaped

(3) LAC is V shaped and steeper than SAC
{4) LAC is U shaped and flatter than SAC



12.

13.

14.

12P/239/29

Ty siad dra 9% (LAC) % aR # sifus wdr sk R 2

(1} LAC, U 3T&R 1 8l 8

(2) LAC, V TR & Bl &

(3) LAC, V 3TN &I Bl & 3 SAC H 21 el &1 aren &l 2
(4) LAC, U 3R & 811 2 3t SAC ¥ 31 |ue @1el =reT oIl o

The two conditions, MC = MR and AC = MC, must be satisfied for
equilibrium is :

(1) Perfectly Competitive Industry

(2) Monopolistic Industry

(3) Monopolistic Competitive industry

(4) Oligopolistic Industry

MC = MR €1 AC = MC, 3 31 <91d 98t St =1fee Sged & fora -
(1) gotaan wfadt sam (2) UkfahiiE e &
(3) Uy ufgant sam o (4) oTeufawie T o

Which of the following is selling cost ?
(1) Expenditure on packing

(2) Transport cost

(3) Expenditure on advertisement
(4} Wages paid to labour

o & fasha onTd 1 2 ?
(1) e W =g (2) UfEEd | 4
(3) fommm W = (4) =fl #1 T weh

Given C=20+0.80Y,1=50,G=20,Y,=Y-T,T =T,-T,T.=0
& T, = 10 (where C = Consumption, Y, = Disposable income, I =
Investment, G = Govt. Expenditure, T = Net tax revenue, T = Gross
tax receipts, T. = Govt. transfers, Y = Income), the equilibrium income

Y in the economy will be :
(1) 400 (2) 420 (3) 410 (4) 500

7 P.T.O.
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15.

16.

e C = 20+080Yi,1—%0 G=20.Y,=Y-T ----'-—l,flf-o&‘
1.=10 (&I C =399, v, - O ARG 37, 1-ﬁﬁm G = TR T4,

- 6 HX A, | = THS F A, F-W{?Tﬂmmm«; N
Wﬁaﬁwawﬁwm (v) B

(1) 400 (2) 420 (3) 410 47 500

As per the Classical theory of inflation moncy supnly elasucity of
price level is :

(1} Zero {21 Equal to onc

(3] Less than one (4]  Greater than one

1 THITA & et fagia o SgaR Simd =1 1 T %1 P 70 & e B
E

(1) I (2) T T TR

(3) TR T Y (4)  THIE I ST

In the context of Permanent Income Hypothesis of the [ollowing swate-

ment is incorrect

(1) Higher the ratio of non-human wealtl: to toal incoms hphe - is
the incentive to save.

(2}  Actual Consumption = Permancent Consumption + Transitory
Consumption.

{3) Permancnt Consumption is not correlated with Transitory Con-
sumption.

(4}  Beaoth (2) and (3)

e s ofteen & gy 5 few A £ W w e e 7

(1) T-HEE O] U6 & 4713 & dqura B =ik g a?:ﬁ ERlECit]
St stfera ghlt

(2) EfEs TU = TR SAH - SETHIT /AR TEE

(3) TR S99 areRiere 3TN | gy Ad A

(4) (2) UE &R (3]
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Ahich of the foiloning is false aboul monopelistic competition ?
P11 A miunber on sellers and buyers

(2} Some seliers contros the major portion »f the total cutpuat
(3] There is product differentiation

i4;  Therc s frec entry and exit of flimas

frmfafas & W &, OTTUERESE SR % a9 § Ted §7

(1} &= shen o Tashar

(2)  FB 1THAH B T T9E F § e W e

(@) T e &

() I F] ST R ST

Choose the eorrect answer to fill ihe blanks in the stateinent given-
The short run Phillips cuive and long run Phillips curve intersect at
the ....... eond L

{1} Expecied inflauon rate; the natural unemployment rate

(2}  Expected Indlation rate; the expected employment rate

37 Exoccted Taflation rate; the expected unemployment rate

v

——

L

%
7 Natura: inlation rate; the experted einplovment rate

-

feu w99 ¥ fom = &1 9fd & Taw ot 3o = =997 Fifau
arqsrela fwforg amp od ddara fefitg o Tl &L ud
Gowd B

(2) st wwia &t erpui TemE et
(3} A BT 2, AT USRI X
(4) TR @ wiE o aEmie T e

A kinked demand curve is found in
{1} Monupnjv market

(2] Oligopoly market

{3} Perteotly competitive market

(4)  Muonopolistic competiiive market

9 P.T.O.
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20,

21

ferefae Win a6 o S @

(1) Ffg&N Iem |

(2) ocayEERl SR |

(3; quidqar wfoarht sk §

(4} UEIUEREES JeErm SR |

In order to calculate NNP at Factor cost :

(1)

{2}

(3)

(4)

Indirect tax is subtracted and subsidies added to NNP at Market
Price

Indirect tax is added and subsidies subtracted from NNP at mar-
ket Price

Corporate Income tax is subtracted and Transfer payment added
to NNP at Market Price

None of the above

YT FId R YE WA I JG S b g :
(1) SR HHG T Ya U S § @ 1icas a1 H o2 S @ adn fade

TR (Fafgd)) 1 A fea S 2

(2) TR #Hd W GE TOT SR J ¥ STRAY X B NG I & 9

gefadt ® 9T fea Shar §

(3) W WA R LS U9E SR A | T 3 TR K@ I 2 A

(4)

ST YA 1 sig e s @

T 9 & T

"Interest is a reward for parting with liquidity for the specified pe-
riod" is said by :

(1)

Wicksell (2) Keynes (3) Pigou (4) Marshall

"S, U Ty oTafy & fIu atert & IR B QR ¥ e

(1)

faear 3 2) ®9EA (3) WA (4) Hreie A

10
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22. Which of the following statement is incorrect about Marginal! Effi-
ciency of Investment (MEJ) ?

23.

24,

(1)
(2}

(3)
(4)

MEI curve works as investment demand curve

The slope of MEI curve depends on slope of the supply curve of
capital asset

MEI curve is steeper than Marginal Efficiency of Capital curve.
None of the above

ga‘aaﬁ@ﬂia &HAT (MEI) & 4 & fau ¢ sy § O 19 @1 e e
?

(1)
(2)
(3)
(4)

MEI @ Fa9 a1 % % ®9 0 & & @
ME] 5 @1 gt $oia axqell @1 qid @ & arer W fisk st @
MEI a5 MEC o5k

T | W T

When an economy is in Liquidity Trap :

(1)

Increase in money supply increases rate of interest

(2) Increase in money supply decreases rate of interest

(3] Increase in money supply makes no change in rate of In
(4) Monetary measures are very effective

Sa g Aeforar wad B8 @ -

(1) TE-9f § ofg, o F e A word

2) TEI-9RE A gfig, sae 1 9 H Hedl @

@) g Y 9fE, = Ft R H B oRadd T R

(4) WifEe ywE Sgd T9EwRl S ©

Modern theory of interest considers :

(1)
(2)
(3)
(4)

Monetary variables only

Real variables only

Non-economic variables only

Both the monetary and the real variables

11 P.T.O.
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25.

26.

27.

I o1 oy fagrd, snanfia €
(1) ad dfgs T W

(2) wHad artas o T

(3) e W-anfdE = W

(4) Tfgw =/ @ gafas =W

Which of the following is incorrect about High Powered Money (H} ?

(1} H = Currency with the Public + Cash Reserve of Bank + Other
Deposits of RBI

High Powered Money doesn't included demand deposits

)
3} The total supply of money is a certain multiple of high powered
money

{4) None of the above

3vq v g1 (1) F wed % A W | B qwy we € 2

(1) H = 70 % TR T G5 - 1 T8 T + o o % I 379 5
) $=a vife T W W o Wit TE Eran

( .

(3) T W FA I 359 9 P FH TR 8

(4) T U BE TR

For money to serve as a good medium of exchange, it must be :

{1} Durable {2) Transportable

(3} Of Standard Quality (4) All of the above

faftma & a8 meaw & ®9 § FW % % fou g § SE W 07 A e
(1) fewsTA (2) aREEAI

(3) wrIfoTes T[OTE (4) T § 4l

‘Wage rate is determined by demand for labour and supply of labour
This theory does not assumes :

{1) Freedom of occupation

(2} Perfect mobility of workers

(3) Under employment of labour

(4} Perfect knowledge of labour market to the workers

12
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‘gt g 1 fyaiter o =) Wi aen 9| % i gR g 21 9% faerd 98
HHAFL T8 e foh

(1) HIHE i TEd=dl 2

(2) Fergd W ol il €

(3) oM ¥ 21c% YR 2

(4) T H IH AR H G SHEE

The doctrine of Quasi-rent was introduced into Economics by :

(1) Marshall (2) Ricardo

(3) Mrs. Joan Robinson (4) J.B. Clark
srefere W enw-an foar &1 9ty ST

(1) wredet 2) ferEl

(3) siad S aferg= 3 (4) Fodto FETH

According to Marginal Productivity theory of wages if the marginai
productivity of labour increases :

(1} Wages will increase (2) Wages will decrease
(3) Wages will remain constant (4) There is no relation

ggﬂg%@mmmﬁm%m,uﬁmaﬁ@nmmm

ar
(1) =g el (2) Fd w \
(3) T feem @l 4) oW o gy Tl 2

Which of the following statement is incorrect about Maginal Effi-
ciency of Capital (MEC) ?
(1) MEC falls as investment increases

(2) If MEC > r {rate of interest}, Gross Investment > Replacement
Investment

(3) MEC curve works as investment demand curve
(4) None of the above '

13 P.T.O.
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31.

t
W

o 9t dim emar & gedf ¥ Freifafigd ¥ § @ W 0 eE € ?
(1) 3 A gfe & wy Gt =t @ g § w0 ad ]

(2) ¢ 45 % dAra e > ¢ S <X g e > fawnfia e
(3) Ui =i diwra enval a5 FEw A A 9 % w9 W S s
(4) ¥ 8 B T

Price Line shows :

(1} Income of the consumer (2) Price of the good

(3} Liking of the consumer {(4) Limitations of the consumer
&ma 3@ TefRia & "3 :

(1) STHIH & 3T & (2) % & FIHA F

(3) SUURHT B TE< Bl (4) SUSIE & dimisll &t

Pric~ effect 1s equal to -

(1) Substitution Effect + Income Effect
{2) Income Effect - Substitution Effect
{3) Substitution Effect - Income Effect
{4) Income Effect/Substitution Effect

FITa I ST B ©

(1) SdENYT SWid  + I q9E
{2) A 99E -t 99g
(3) Ffaenyd ¥wid - g I9g
(4) " WIE/SfaeeT 39

Which of the following statement is incorrect ?

(1) Increase in inflation rate leads to decline in real rate of interest
(2) Repo rate is always greater than Reverse Repo Rate

{3) Cash Reserve Ratio is reduced in times of inflation

(4) Bank Rate is reduced during times of recession

14
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frafafiga & @ $F 91 F9F T € ?

(1) & T < & gfg & R arafas s < & 99 €l ©
2 W g fad 10 T A ol a2

(3) W1 T % gva A e o arqur § wd o @ w@@ @
(4) AR & T % X N Ml o @

A firm will earn maximum profit when its MR is :
(1) Higher than Marginal Cost (2) Equal to Total Cost

(3} Equal to Marginal Cost (4) Lower than Marginal Cost
TS U AfUdhan iy 39 9UY W SO SHfh IUH! Hd 3 (MR)
(1) Hura o 9 afas. @ (2) HA AN F TTH B
(3) Hiud ArE & e | (4) ©E A ¥ 9 8

Ac Al
In a two sector model b =E; =05and a = E{( = 0.5. If autonomous

investment in this economy increases by Re. 1, what wili be the total
change in income ?
(1} Rs.2 (2) Rs.4 (3) Rs.8 {4) Rs. 16

A . Al
@%ﬁa’hwfaawﬁbr‘é=o.5qaa=5,=0.5.afagaaﬁmaw

% @rm A 3 o w93 3 gfg 2t 2, & T T g B fReY & aGaR
qfad 2 2

(1) 2%o (2) 4%o (3) 8%Fc {4) 16%o0
Break even point is a situation, in which a firm is :

(1} Earning profit (2) Bearing loss
(3) Neither in loss nor in profit {4) Earning abnormal profit

15 P.T.O.
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37.

38.

39.

40.

1w 2t Forg e feaf & fol o ot
(1) o9 %9 & & (2) FEH I3 W E
(3) TV I S AW AFAA (4) SR AA HA G R

Shape of Indifferenice curve, in case of perfectly complementary goods
is like :

{1} Alphabet L {2] A Vertical Line
{3) A Horizontal Line {4) A 45° Line
yufqar qXes agell % gl ¥ qem av 1 SAIER Hid
(1) L 38R H (2) U o L@l
(3) Uw &ifas Tan 4) TH 450 TGl H
The concept of Natural rate of interest was given by :

{1} Keynes (2) Wicksell

(3) Marshall {4) Adam Smith
TS ht UTR(OE AT B YR @ & e

(1) 94 (2) Torrder 3

(3) Wi A (4) UEw oy A
When Average cost falls the Marginal cost also falls :

(1) At the same rate {2) At twice the rate
{3} At thrice the rate (4) At quadrupled rate
w9 frga o fiedt ] @ W s sh ind @

(1) sE@RA 2) FH XA

@) for =¥ (4} N ECH

A monopolist will like to sell his product in a market where clasticity
of demand is :

(1) Zero (2) Less than one
(3) One {4) More than one

16
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TS THTYSR 39 SR ¥ QI S==1 DR S8l 11 &) &
1) @R (2) THAFTE
(3) THE (4) THH SRR

Who among the following, explained Monopolistic Competition, first
of all ?

(1) A. Marshall (2) E. Chamberlin

(3) J.R. Hicks (4) J. Robbins

frafafaa & @ feaq, taEfasriors fadifier o e vo 98 1 7
(1) To T¥le 2} %o TR

(3) Wodrmo fead (4) Slo Ufa=

Marginal Productivity Theory of Distribution was propounded by :
(1} Ricardo (2) Marshall '
(3) J.B. Clark (4) J.R. Hicks

foreRoT & dmr Seqrgehdl oG & ufaurea fhan o -

(1) farel A (2) wefa A

(3) Sloslto g A (4) Slo3Mo fEam A

Elasticity of demand would be same at every point of a demand curve
if the shape of the demaned curve is like :

(1} a Straight Line (2) a Down ward sloping curve
(3} a Rectangular Hyperbola (4) a Ciurcle

Tl o o5 & ¢ forg W O @) g guW B Afg AT 98k R AHR 2
(1) U Hieht (2) T & AR i gon o

(3} AR fTRaE (4) TR

Which one of the fellowing curves is generally not U sl_iaped ?
{1) Average Variable Cost Curve (2) Average Fixed Cost Curve
(3) Average Cost Curve (4) Marginal Cost Curve

17 P.T.O.
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45.

46.

47.

frefafad o6 T 9 & QWURES U STSR &1 T8 e ?
(1) afitga Red"sia @ o5 (2) oid fer W 9%
(3) 3&d AP a5 (4) v AT 9%

If Price Consumption Curve is Negative, then the elasticity of demand
would be :

{1} Equal to Unity (2) Less than Unity
(3} More than Unit (4) Zero

Ife HAd ST 9 FOMHE Bl [ ht i g

(1) THE & FUK (2) THE © FHH

(3) FHE 9 G 4) ITH

Which one is not an assumption of the theory of demand based on
analysis of indifference curves ?

(1) Given scale of preferences as between different combination of
two goods

(2) Diminishing marginal rate of substitution
(3) Constant marginal utility of money

{4) Consumers would always prefer more of a particular good to less
if it, other things remaining the same

e o Q4 319 W F99 ST o5 Yl X snemia T fierd &) W
F FE AR HAT B ?

(1) @ axged ¥ fafus @dnif & o9 o= fean gon adu@ #a
(2) BIEAF WA Sfdeendd
(3) T Ht fer dhra Srafi

(4) ¥ 9 TUFE @Y W, SOIRE 98d fhH awg F i W St HH &
STaeT TR M

Repo activity by the Reserve Bank of India :
(1} Increases Liquidity {2) Reduces Liquidity
(3) Does not affect Liquidity (4) Affects long term interest rate

18
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g o &% g T FwrEaEd
(1) e Sgwt 8 (2) TR HeR @
(3) T B o A A (4] SrEwei s g ) Sl S @

Reverse Repo activity by the Reserve Bank of India :

(1) Increases liquidity {2) Reduces Liquidity

(3) Does not affect liquidity (4) Affects long-term inlerest rate
R foord o g fead T Feda

(1) T G 2

(2] T e &

(3) e W WHIfgy A8 Fd
(4) < FelT sA ] F e H ©

Money Supply measure M, is equal to :
{1) Currecy with public
{2} Currency with public + Demand deposits

{3) Currency with public + Demand deposits + Other deposits with
RBI

(4} Time Depasits + Demand Deposits + Currency with Public

TET MY WA M IR @

(1) el & G HI (I gET)

(2) S % U9 FE + T ST

(3) M & U FLA + W T +SAGEAE & I T T
(4) GHG SH + WP SH 4 ST F TG

In the case of substitution effect in indiffrence curve analysis, the
CONSUMEr moves :

(1) from a curve on one price line to a curve on another price line

(2] along the same indifferenice curve from right to left

{3) from a point on an indifference curve to another point on a price
line

(4) along the same indifference curve from left to right
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51.

52.

53.

ST aeh faverauT ¥ HRTeIeT wue % srld U S S €
(1) UF & 3@ R e oF § gad w9 t@si | e o ®
(2) SH IerEHa g% W aifed | 9t 3R

(3) e o & TS fag | wiHd W@ & 3 fag W

(4) S TG OF W T Y A AR

Who has classified the functions of money as Static and Dynamic ?
(1) Paul Einzig (2) Trescott (3) Coulborn (4} Chandler

e ¥ FE w1 T fews, v v T@ate & e fwa g 2
(1) WM (2) TWHE  (3) FeEd (4) JUSEH
Producer's equilibrium will be achieved at a point where :

(1) Marginal rate of technical substitution (MRTS) is greater than
the price ratio

(2) MRTS is lesser than the price ratio
(3} MRTS and price ratio are equal to each other
(4) The slopes of isoquant and iso-cost lines are different

I 1 Fgod 39 farg, T & S|l

(1) d&ATh! Sfaeare 1 G €0 (MRTS) Fi9d 190 § sifas @
(2) MRTS HWd 0 & %7 €

(3) MRTS a1 HHd I Th-TH & aeR &

(4) FORGE qE TH-OMTG LIS H T FAT-IAT §

‘Demand Pull' inflation is generated when :
{1) Demand for money increases

{2) Demand for products increases

(3) Supply of goods decrcases

(4) Production cost increases
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(1) T Ft T a5t 8 (2) agel @ AT A
(3) egsh = yfd st @ (4) SEA F AN TGH 7
The concept of "Inflationary Gap' was given by :

(1} Wicksell {2} Keynes

(3) Friedman (4) A.W. Phillips

“Thifeh TIeT T STAERON 1 e o -

(1y o= (2) F94

(3) W 3 (4) To =efo fRfawm 3

The statement ' Inflation is unjust and deflation is inexpedient” wzs
given by :
(1) Crowther (2) Pigou (3) Marshall (4) Keynes

g HIA THifd rrEyol ® qen STawhifa SgwgeE fem 4
(1) SHISER A 2) dmA (3) W A (4) &9

The Original Phillips curve shows as trade-off between :
(1} Unemployment and inflation

{2} Unemployment and wages

(3) Unemployment and prouaction

(4) Unemployment and consumption

T (Original) R =, Ge-a feam 2
(1) ST Td TRt & s (2) IME TE 7Hh & &=
(3) FUWTH Te IeEA & &= (4) ST T YT F A

“Says law of market' does not accept :
(1} Over-production in a firm

(2) Over-production in export-industry
(3) Over-production in a sector

(3) Over- production in general
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58.

59.

60.

‘¥ &1 IR fHam’ WiEr T8 S
(1) T w4 H Irfa-3cmed & (2) frafa sdm & fd-seed &
(3) T &% ¥ Afq-Ied H (4) HEE FY 9 34 SEA-H

1 . . b
Classical economics does not accepts :

(1) Voluntary unemployment (2) Dis-guised unemployment

(3) Frictional unemployment (4) General unemployment
g ST TR AE el

(1) fes® s = (2) fod g SRAsmd #

(3) EHUTCHE SIS =l (4) GRS SRSIR H

The Cobh-Douglas production function assumes that elasticity of substitution
1s

(1) Constant (2) Unity

{3) Below Unity (4) Above Unity
- e Sed Hor § ST # o wet o @
(1) fer (2) THE F T
(3) THE Y HH \4) THE B FW

. C
In macro-economics 1—? shows :

(1) Marginal Propensity to consumer
(2) Marginal Propensity to save

(3) Average propensity to save

(4) Average Propensity to consumer
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mamﬁ‘l—gﬁ@ma:

(1) 39 ) OiE S #
(2) w9 F 4w 909 Hl
(3) T=d & 30tqd Fgfa R
(4) ST F A y9fa R

In Keynesian view, what is the size of Marginal Propensity to con-
sumer ?

(1) MPC>1 (2) MPC<1 (3) MPC=1 (4 MPC=0

FE % e §, Sl ) WA ol 1 MER FM A 2
(1) Sodlo¥o » 1 (2) ToHioWo < 1(3) ToHloNo =1 (4) ToTleTo=0

The kinked demand typothesis is designed to explain in the context
of oligopoly :

(1} Price rigidity

(2) Price and output determination

(3) Price leadership

(4) Collusion among rivals

SR # fagfem Him ok e 9o it oare it ¢

(1) HHd gedl (2) HHG A careA I frafor
(3) I g (4) wfagfsa & 9 %9 dfg
Relative Income Theory of consumption was given by ?

(1} Duesenberry (2) Modigliani

(3} Friedman (4} Kuznets

I 1 TS o foar fan o ¢
(1) SgEeRt A (2) wfefieam 3
(3) WeHT 3 (4) ToeE I
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65,

66,

Euler's Theorem is based on which of the following assumptions :
(1) Dynamic economy

(2) Constant returns to scale

(3} Short-run

{4} Variable relative shares of factors

e F1 W FrafafEa § A fRg grgar W eniia § 2

(1) WafiTe syefeereen
(2) U % fer wfawd
(3) 3TUHA

(4) WAl $] gRadesia o feederd

What does the accelerator show ?

{i} Effect of investment on consumption
{2) Effect of investment on Income

(3} Effect of consumption on investment
(4) Effect of income on investment

% o quta € 7

(1) fafram = 99 3y w
(2) fafFam @1 wwg o/ w
(3) IUHM w1 w9 fafiae v
(4) g F yuE faf=m |

Schumpeterian trades cycle theory in based on :

{1} Money expansion (2) Over-investment

(3} Innovations (4) Multiplier and accelerator
yefieR o SR =g fagra enenfia §

(1) Har-forear W (2) afg-fafam =

(3) 8 Fadq W (4) YUTh Ud @EE 9
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If « = MPC and B = accelerator, constant amplitude trade cycle will
be formed if :

e o SoWloTo TM p ~ TF T, T HIE el SR T 4, A
(1} a=.5B8=0 2) a=.5p=1

(3) a=.5p=2 4 oa=.5B=.5

|

Let A = {1, 2, 3}, B}= [2, 3, 4}, then which of foilowing is a function
fromAtoB?

afe A = (1,2, 3], B=(2, 3, 4] 2 @ F1 A @ ¥ W % A ¥ B el TEW?
(1) 11, 2),(1,3){2,3), (3, 3} (2) [(1, 3} (2, 4)]

(31 11, 3), (2, 2), (3, 3)] (4) 1(1,2), (2, 3), (3, 2), {3, 4)]

An increase in Cash Reserve Ratio (CRR) will :
(1) Réduce money supply

{2) Increase -money supply

{3) Reduce rate of interest

{(4) Increase money demand by public

THE 9 ST (CRR) H gfg, omr .
(1) T S . (@ T o ¥ gfs
(3) TR 2T H w (4) S g g ) A W gl

If J14 X5 +41-Y® = a® (X®-Y3) then dy / dx is equal to :

A e X +41-Y° =a® (x* -39 W dy / dx F 9T B

(1) X; -y (2) _Yi__l;}’i
Y¥ i-X* xX* 1-Xx°
X? Ji1--X° Y? V1-X°
3 [ 4 [
Gy v B
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71.

72,

73.

74.

Which one of the following is false ?

(1) GNP = GDP + Net Foreign Income

(2) NNP = GNP - Depreciation

(3} NDP = GDP - Depreciation

{4) NNP {at Factor Cost) = NNP (at market price} + subsidies

frrfafag & @ #i1 s 2 2

(1) SoTd = e + 3 faesh o

(2) AT = SiEq — forrae

(3) TATAd = SHE — fommee

(4) T |rEA (@8 A W) = TWEAd (FNR Sigd 1)) + qigm

For given function Z = xy and Constraint function x + y = 6, optimal
combination of x and y will be :

& T HA Z = xy T TG HeM x +y = 6 & (AU x AT y FT S R
o ghy
(1) (2,4 (2) (4, 2) (3) (3,3) (4) 6, 1)

An increase in Statutory Liquidity Ratio {SLR}, in general :
(1) Increases profitability of commercial banks

{2) Reduces profitability of commercial banks

(3) Increases Loanable funds

{(4) Reduces rate of interest

Ay e U (THUGHR) H IfE, AT
(1) =i Sl o oy @ ¥ gfg el @

(2) RF A I A9 TA@ Y FH FA 2

(3) SHR 27 w1y § ofg F 2

(4) = R Y FA A R

MV = PT is also known as :

(1) Cash - balance equation (2) Cash-transaction equation
(3) Real - balance equation {4) Market - balance equation
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MV = PT &1 5% &% Wi S oan @ -
(1) “TEg—hi GHIATY] (2) “He-fafma giem
(3) aTEfgH-HT FHIFH (4) TER-FY HHiE

Demand for money curve, as assumed by Pigou, with reference to
prices, is :

(1) A downward sloping straight line

{2) A vertical line

(3) A Rectangular Hyperbola

(4) A Horizontal Line

U & faem |, sivd & el § g Fi A5 & 9%
(1) R fdigd e dh T ? (2) ©F T=Ea @R
(3) UF FEER e € (4) T dfvw Y@ @

Derivative of y = f3x is:

y = f3x 1 IFEHE B

3 3 3y 3
N 57 @ Sk (3) gx/' 4 B

If A and B are two matrices such that AB = A and BA = B, then 82 is
equal to :

4 A G B T SSYE € el AB = A A1 BA = B, 99 B? 9K 8 :

(1) B (2) A 3) 1 4) O
The arithmetic mean of 1, 2, 3, ......... nis
1,2,3, .. n % GHRR WY 2

(nt1) (n-1) n n
1 = 2 = @) 3 () +1
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79. What would be the differentiation of y =3,/y¢ ?

80.

81.

82.

83.

y =3 5t F SHEHT FAE ?
(1) 3x8 (2) 2x (3) 6x3 (4) x°

Function y = x* - 3x? + 5 has a point of inflexion at :

(1} x=-1 2) x=1 3y x=2 4) x=0
A y=x3 —3ﬁ+5$?ﬁfﬂﬁﬁ?ﬁﬁﬁﬁ%'§:
(1) x=-1 {2) = 1 3y x=2 (4) x=0

The mean of n observations is ¥ . If the first observation is increased
by 1, second by 2 and so on, then new mean is :

n UaY ¥ fAu mer ¢ 1 AR URd 92 1 qed 1 | T 9, T 9E F gl
2 | w7 91 R U% n 99 9% 38 YR faR g 1@, 9 7@ e e

(n+1)

(1) X (2} X +3 8} X *73 (4} X *+n
Anti - derivative of any function is called :

(1) Partial derivative {2) Second order derivative
{3) Integral (4) None of the above

et war o1 Sfi-2Fase sHeadl €

(1} ifF Fawaa (2) faim ife siaswem

(3) T (4) SUO® B 9 FE @

Find Consumer's Surplu’s if a demand function is § = 6472, while
P=4;

afe AT FeH € g = 64728 A P =4 B, T ITAH Hl o=d daB5l
(1} 64 2 16 3) 8 @4y 32
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If Average Revenue function is AR = 25 - 2x then MR will be :

Ife 39T ST HeM AR = 25 -2x BiaT TE I 8N

25-2x
(1) 25-x (2) 25-3x (3) 25-4x 4 ==

What would be the marginal cost at 6th Unit if the total cost function
of aproduceris TC=x? - 7x+257?

g T IEH H FA AN HAT TC = x2 - 7x + 25 T Al T3 THE W
= A = g 2

(1) 18 (2) 38 (3) 5 (4) 19

Ifn=10, ¥ =12, inz = 1530, then coefficient of variation is :
i=i .

A n = 10, § = 12, 7 2, X’ = 1530, N fa=wor onis & -

(1) 41% (2) 36% (3) 25% (4) 21%

If fixed cost is 100 and marginal cost function is 6x + 3, then the total
cost function will be :

%ﬁnWWIOO%HWWWW6x+3,@?ﬁ%WW

(1) 3x2+3x - 100 (2) 3x%+ 3x + 100
(3) 3x? - 3x - 100 (4) 3x? - 3x + 100

If we replace rows to columns and columns 10 rows in a determinant,
then the value of determinant will ;

{1} Change

(2} Change in Positive sign

{3) Not change but sign will change
{4) Not change

29 P.T.O.
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89.

90.

91.

Ife wF GRS § a9 e B o R W w1 ufedl § a9 fe o Al

grfors &1 0
(1) o&d ST (2) =TT Fagl H e ©
(3) TE Fead WR fae wTe 91 & (4) T See

The relation between minor Mij and Cofactor cij is shown by :

ITERMTE Mij 991 WEEUed () % ah" g B P g weffe w2

1)
(3)

LR L7800
4875, ¢ 1| and 10 11 12

then A + B will be

cij = Mij
cij = (- 1) Mij

(2)
(4)

cij = (1 +j)-' Mi
cij = —(i)* Mij

13 5 7 8 9
A= B=
ar {7 9 11] & e [10 3 12]_@39“‘“5@1"

8 12 14 7
A 17 20 23 @ |1 3 s
(8 11 14] (1 5]

G |17 20 23] *)1g 9 |

1
2
IfA={l,2, 3,4 and B= 3 , the value of AB is :
4
(1) 10 @) [L4916] (3) 30 (4) 28
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uﬁA=[1,2,3,4]aﬁtB=§ A1 AB W1 W B

4

(1) 10 (2) [14916] (3) 30 (4) 28

The farther the two regression lines from each another, the degree of
correlation will be :

{1} Lesser (2) Greater
(3) Zero {4} Does not matter

 TAgmT TEE Tl W e g B S, He-wred il A St
I

(1) u &l (2) @ifues gt

(3) Y= B (4) HIE ek TG W

Which one of the following is correct ?

(1) Median -Mode = 2/3 (mean - mode}
(2) Median -mode = 1/4 (mean - mode)
(3) Median - mode = 1/3 (mean - mode)
(4) Median - mode = 3/4 (mean - mode)
oo 8 @ 9 T8 2

(1) WIfEH - 9gas = 2/3 (W - Fga®)

(2) WIETH] - gt = 1/4 (AT - Fgah)

(3) wfeAsHT - FEAF = 1/3 (WA - HgeTh)

(4) WIfEAR - SEATHR = 3/4 (WA - TEAF )
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24,

95.

96.

Which one of the following is not true about modc ~
{1} It is simple

{2} It is completely understood

(3} It is not affected by values of extremed itcr=
(4) It is based on all the observations of a series

wEeE & an A, Fetfafas § A ¥ od @ 2
(1) @ e &

(2) T® 90 We wAF T R 2

(3) I& TRH U % Yo W wwfaa Ad S
(4) 98 TF Avi & weft ged W anafia g @

Which one of the following is not correct about Geosmietg seean 2

(1} It is very simple to calculate

{2} It is rigidly defined

(3) Itis based on all observations

(4) It is capable of further algebraic treatment

sfifaes me % AR o, frafofag § @ &0 & a8 ¢
(1) SEE MUA A G- IEH 2

(2) E gE@ & g S @

(3) u8 G qell W smua @

(4) T8 iR sy demivida federn 9ma @

“The reciprocal of arithmetic average of the reciprocils of vaiues
various items of a series is called :

(1) Quadratic Mean (2} Geometric Mean

(3} Harmonic Mean (4) Moving Avriine

32
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T 9t & fafim 1S & el & FoRA % T Wea o SgohH Wi, hed
g

(1) feendt orem (2) wfafds we

(3) TS W (4) =& A

Which one of the following relation is correct in general ?

(1} Arithmetic mean > Geometric mean > Harmonic mean
(2) Arithmetic mean < Geometric mean < Harmonic mean
(3} Arithmetic mean = Geometric mean = Harmonic mean
(4} Arithmetic mean = Geometric mean  Harmonic mean

frpafefiag gl § @ &4, gWaa: 96 2 2

(1) sERTford @ea > Safafas We > SRS HI
(2) HFTUHE M < giafaE WM < TWHE 1S
(3) Sienfvrdy e = sfufas weg = g0 "
(41 FFFIUTAE weT = SfHideE HiLg . SYcAs Wik

Who is the Chairman of Planning Commission of India ?

(1) Prime Minister (2) President of India
{3) Finance Minister (4) None of the above
R AT AN w A B T ?

(1) SgFEE (2) WRd = Tgyfd

3) foa == (4) SF T ¥ FE T

Eleventh Five Year Plan was started in :
(1) 2005 (2) 2006 {3) 2007 (4) 2008
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REE aadtg A g9 g3 o
(1) 20053 (2) 2006%  (3) 2007% (4) 2008 ¥

100. Which one of the following is known as average of position ?

(1) Mean (2} Median
(3) Geometric Mean {4) Harmonic mean
fyefafaa ¥ @ 37, faft & e, § w9 7 @ @ 2
(1) wW" (2) e
(3) =nfufas mor (4) TS WG
101.Which one of the following is mot a measure of central tendency ?
(1) Mean (2) Mean-Deviation
(3) Median (4) Second Quartile
frefafiaa ¥ § #F $=ia wafa & wa @ 2 2
(1) W= (2) W foued (3) wiftEs (4) FEdaagds

102.National Income data in India are compiled by :
(1) Planning Commission
(2) Central Statistical Organization
(3} Finance Ministry
(4) Ministry of Planning
vIRa & W 3 SAiES 1 aaen fem W R
(1) FISET TR GRT (2) F=1a GifEEF 9red gR
(3) faxi e g (4) IS HATCHE B
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103. Which one of the following is a formula for calculative mean deviation
in a discrete series ?

frafafas & | S, sread Aot & e fomem & T w1 YA ¢ 2

£ i Ifd i 5 f?
T (2) Tf (3) N (4) T

(1)

n

104.1n calculating Standard Deviation we measure deviations from :

(1) Mean only (2) Median only
(3) Mode only (4} All of the above
WY faaes ) TOEr S0 W, 29 faeedl @) o ek ©
(1) wad meg | (2) Faa mftas @
(3) FaS qgAd o (4) SHH Rt |
105. The main objective of the Eleventh Five Year Plan is :
(1) Rapid growth (2) Growth of employment
(3) Growth with justice (4) Inclusive growth
R deada A9 W e Sev €
(1) = famm 2) TSR H1 faH™
(3) M <+ g faew (4) wHEw faem
106.The sector showing the fastest rate of growth-in Indian economy at
present is :
(1) Agriculture (2) Manufacturing
(3) Services (4) Public sector
A SAefereren & adur av@ & g 97 #i faer G waifas }, @@

(1) 2) fafmimr  (3) @[@ (4) GrdefE 83
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107.Standard coefficient of dispersion is :

foreret =1 wHI9 TOIE BT ®

a o a
- @ _xi @) o

(1) (2)

a

108.The target of agriculture growth rate in the Eleventh Five Year Plan
is : '

(1) 4 Percent (2) 3 Percent (3) 5 Percent (4) 2 Percent

TREE T Ao ¥ i % e X H A ©
(1} 4 dfaee (2) 39fe  (3) 5ufmEE (4) 2 wfeerd

109.Which one of the following is a correct formula for calculating standard
Deviation in continuous series ?

frafafed ® @ 9 o faser #t o & o 0 'l g9 § 2

fax (TRixY xfdx® (zfdxY .

(1) o=y—- X1 {2) o= |- X1
n n n n

/zfdx Tfax® - /Efdxz {zfdx?] .

E= —_ g = — b |
(3) ° n n “ (4) V n n

110. If mean is 50 and standard deviation is 10. The coefficient of variation
will be : '

(1) S5 Percent (2} 10 Percent(3) 20 Percent ({4) 40 Percent

Ifg A" 50 SR YW fawem 10 &, @ famwor s e
(1) 5 wfawa (2) 10Wfqed  (3) 20 v (4) 40 "fawa
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111.17 Lorenz curve is a straight diagonal line it shows that the distribu-

ele NN

(1) Equal (2) Highly unequal

{3} Unequal {4} Unequal of low degree
I o~ 93 U [Tl W € @ e gt @ o

(1) TEE & (2) wgd Afuew oraur @
(3) STEHE 7 (4) HH FHH B

112.With reference to Price Index Numbers, it P, x P, = 1, which Test it
satisfies 7

{1) Time Reversal Test (2) Factor Reversal Test
(3} t-test (4) Circular test

W gEHE F g W, A P, « P = 1 &, @ 98 fbg S ) G H
22

(1) G99 IFFHAM S04 (2) dd IohHEAl ThYu
(3) F-ThE (4) =eHE The
113.Who has given the following formula to calculate price index
number ?
P4,
Py = Tpq. X 100
(1} Fisher (2) Bowley (3) Paasche (4) Laspeyre

HMG gD F A FT F Frefafea g3 fFa7 i o 2

Zpiqc
For = 3p,q, * 190
(1) frax (2) AEA (3) I (4) TERR
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114. Which of the following concept is not used in the measurement of
unempioyment in India ?

(1) Usualstatus (2} Annual status
(3) Weakly status {4) Daily status
fm % @ for sraaRen % ¥ gRa ¥ SR F fau T e o € 2
(1) wmrg fegfa (2) aftis feafa
(3) arafew faafa 4) s ferfa
115.Which of the following States has highest Sex Ratio in India ?
(1) Tamil Nadu (2} Kerala (3} Gujarat (4) Orissa
yRa  fe T N R e TS 1 orur wed s @ 0
(1) dfrerrg (2) (3) TRM (4) g™

116.1f points on a scattered diagram do met show any clear trend, we
conclude that :

(1) Variables are highly correlated

(2} Variables are positively correlated
(3} Variables are negatively correlated
(4) Variables are not correlated

%ﬁﬁmﬁaw@ﬁﬁaﬁémwﬁaﬁmaw%ﬁmﬁwﬁ%
(1).?{713(3%3113'{1@% @) =0 N ¥ gewEy ¢
(3) = W RIS wewEg g (4) = ¥ gewwy JE 2

117.1f the two regression lines (Y on X and X on Y} cut each other at right
angles, the two series are :

{1) Negatively correlated (2) Not correlated
(3) Positively correlated (4) Highly correlated
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aft 3 gws T (Y on X 3R X on Y) TH-g@ # QU W Hd &, @
TR 39 A

(1) BT €9 Q geEatad € (2) we@@tEd 94 €

(3) ITE ®Y Q ggEEtEd € (4) So9-Hewwlud §

118.How many permutations can be made from, three alphabets of a
combination {a b c) ?

%ﬂ;ﬁ;ﬁa(qﬁ@)%@waﬁm—gﬁzmmnﬁaﬁqmm
M 2 2 3 (3) 4 @) 6

L19.There are six doors in a hall. Four persons have to enter it. In how
many ways, they can enter from different doors ?

F 2 N ©: SEN ¥ 9R AR ) T yaw w1 2 fafim et ¥ 9
Fal e A AU T G & ?

(1) 6 @) 12 (3) 180 @) 360

120.From a bag containing four black balls and five red balls, a draw of
three balls is made. What is the probability that all of them would be
black :

o Oie 7 Q, forgl IR Fel wE ute a@re 12 ¥, d 1R el St ) 3w 9w
F 71 G @ fF a7 T B 2
(1) 1/21 (2) 1/25 @) 2/3 4) 3/22

121. Rostow's system has five stages. Which one of the following is the last
stage ?
(1) The traditional society
(2) Drive to maturity
(3} Take-off
(4} Age of high-mass-consumption
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= F yne ¥ Ui w1 91 freafataa § § 9, enfed s § ?

(1) YORA | (2) wftgaam #1 3R
(3)  SUHEEfd (4) Sea-ufEEH-IuAT w1 G

122.Disguised unemployment is a characteristic of :

(1) Industry (2} Service sector

(3) Agriculture (4} None of the above

fodt g¢ ST T AefT @ -

(1) &M H (2) Qa1 &F W

3) FaH: - (4) T Q fed &1
123.Which ohe of the following is mot a supporter of balance growth ap-

proach ?

(1) Ragner Nurkse (2) Arther Lewis

(3) Rodan (4) Paul Streeten

frefafea ¥ & B, dgfer forra gfveron 1 ade 8 € 2

(1) treER (2) el afam (3) A=W (4) die WA
124.The crop having largest area under irrigation is ?

(1) Rice (2} Wheat (3) Oil seeds (4) Pulses

o o fifee Sy PO TR R TR S .

(1) M 2) W (3) foerea (4) TERA

125. Rosenstein-Rodan is related with :
(1) Theory of Big-push _
(2) Theory of Critical Minimum Effort
{3) Golden Age Model
{4) Low Level Equilibrium Trap
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VXAV Frafem ¢
(1) SWer-vaen fagra 9 (2) WA Wifaw FEE
(3) Eot=gn-srET ¥ @) Tre-wdg agem 919 9

126. Natural Growth Rate (G,) in Hartod-Domar model in :
(1) The maximum possible growth rate
(2} The minimum possible growth rate
(3) Desired growth rate
(4} Actual growth rate
¥ ey §, W el W Gy B |
(1) A wenfen wafs <t (2) AW wrdifad §4fg €T
(3] aifes dafa = (4) areafas gafe

127. According to Harrod-Domar Model an economy would be in a state of
-stablé growth, when :

(1}) G=G,and C=C, ) G>G,andC=C,
(3] G=G,and C<C, (4) G<G,and C>C,
- MEY F AR, ©F wdemaeen, fen dgfs ot <w & W@ afg
(1) G=G,3RC=C, 2) G>Gg,¥Rc=c,-
3 G=G,MMC<C, (4 G<G,¥RC>C,

128. Present Industrial Policy is based on :
(1} Industrial Policy Resolution-1956
(2} Industrial Pelicy Resolution-1948
3) New Industrial Policy-1991
(4) New Industrial Policy-1992

(1) s Sfifq wara-1956 W (2) 3R AT STEE-1948 W
@) 7 shedfirs ifa E-1901 4) T shehfis A 1992
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129. Which one of the following is not true about Labour-intensive tech-
niques ?
(1) Tt increases labour productivity
(2} It increases labour employment
{(3) It reduces income disparity
(4) It suits to small-scale production

59 YHM qeAls & an ¥, Frefafaa @ o, af ad 2 2
(1) 92 5| i IAEHAT H) Tl 2

(2) T€ AfF YR ! TGl 2

(3) & ST W FAHAAG N FH F 2

(4) ¥E Y WA I & e ik @

130.India joined the World Trade Organization in :

(1). 1948 (2) 1966 (3) 1991 (4) 1995
I ‘faga <amqR) §739’ H qitnfdd gan .
(1) 1948 T (2) 1966 ®  (3) 1991 H (4) 1995 1

131.In which year, the negative balance of trade of India is maximum :

foy ad ¥ YRA 1 HTHF AR For Faifas @ ¢ -
(1) 2006-07  (2) 2007-8  (3) 2008-08 (4] 2009-10

132.Big-push theory has been propounded by :

(1} Ragnar Nurkse (2) W.A. Lewis

(3} W.W. Rostow (4) Rosenstein Rodan

o2 vk & fagra w1 wfaae fR € |

(1) T g A (2) TPoUorlfad A

(3) T Taclo W (4) U= UM
133.“Critical minimum effort thesis" is propounded by :

(1) Harvey Leibenstein {2) Rosenstein Rodan

(3} James Mill (4) Nurkse
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“shifrer =an wars afge’’ wiomfen &

(1) & ifa=T 5/ (2) VSEH UA a1
(3) = fid g™ (4) T g
134.Who gave National income estimates, for India for the first time ?
(1) Dadabhai Naoroji (2) Shah and Khambatta
(3) V.K.R.V. Rao (4) R.C. Desai
GG & WY A F AR, aved feen o a1 ?
(1) EEE At (2) T W G
(3) o Fo Re dlo T (4) STRodlo TS

135.W.W. Rostow has elassified the process of economic growth into fol-
lowing stages :

(1) Twostages (2) Three stages (3) Four stages (4) Five stages

gﬂdmoﬂ@a%mﬂaﬁwﬁmaﬁﬁmmaﬂﬁmﬂwﬁm
(1i Q raeey ¥ (2) W eToRers ¥
(3) IR eraEned § (4) UG T |

136. Which of the following could be the mast correct estimate of death
rate for India, at present ?

(1} More than 10 {2) Between 9-10
(3) Between 8-9 (4) Less than 8

frretfefiga & & @19, adur Ia §, TegEd @1 Gl et STNE € GHa € 2
(1) 1033w (2) 9-10F A (3) 89F AT (4 8V FTH

137.Which of the following State has shown higher female population
than male population in 2001 census ?

(1) Andhra Pradesh {2) Himachal Pradesh
{3) Kerala (4) Tamil Nadu
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frafafad % @ f5d Tsa 1, 2001 St SETOA H fordl S e, gEUl E T
4 sy few ? 7

(1) s wew (2) feded w&w (3) A (4) THETE
138.Who, of the following is associated with PURA ?

{1} Jawahar Lal Nehru (2) Lal Bahadur Shastri

{3} Indira Gandhi . (4) A.P.J. Abdul Kalam

7% (PURA) 9, Fretfafae § @ 31 g € 2

(1) SR did T8E (2) A FEIGL WA

(3) sf=u e (4) Tofodo A HAM

139.Disinvestment of PSEs, as a policy, started from the year :
(1} 1990-91 {2) 1991-92 (3} 1992-93 (4] 1993-94

grefsfes &% ¥ IHea & fafaw, Afa F w9 o, ey gan & ¢
(1) 1990-91¥ (2) 1991-92/ (3) 1992-93%  (4) 1993-94%F

140. Which of the following sectors, contributes maximum in Savings in

India ?

(1) Foreign Trade Sector (2) Corporate Sector

(3) Household Sector (4) Public Sector

foreifefias B Q@ S @ &, 9 H =a § waifed AmeE w0

(1) fosh = a4 2y frm &=

(3) TEET &7 (4) TESTE &
141.'Green Revolution’ in India started in India during :

(1} First Five Year Plan (2) Second Five Year Plan

{3) Third Five Year Plan (4) Fourth Five Year Plan

IRa H BRG i<’ w1 IR g3
(1) ¥o@ Y=awa ae & S (2)  fadig et aeen % S
(3) AT GEEEE Ao F SRA (4)  uqd dseE 9 % S
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In India, a large farmer (by definition) is that who owns a land area
equal to or more tharn :

(1} 3ha (2) 5ha (3) 8ha (4) 10 ha

Wgwa@mﬂ(qﬁwim)a@%mwsﬁq,w%m
S22 I -3
(1) 33R|MA  (2) STRMA (3 STRWA (4 10 8RR A

We import maximum (value, 2006-07) from :

(1) Saudi Arabia {2) Japan (3) China (4) America
& Haifas ST (YEd, 2006-07) FA €

(1) WEdeRaA (2) FORE (3 HA Y 4) mfee 3
We export maximum {value, 2006-07) to :

(1) China (2) UK. (3} Singapore {4) America
=9 geifus fE (9, 2006-07) F E

(1) <A@ (2) oo ® (3) TEIR i (4) SRR F

Regional Rural Banks started their working in the year :

(1) 1969 (2) 1975 (3) 1980 (4) 1982
arsig andr S Y e wE w4 ¥ fean o

(1) 19699 (2) 1975®  (3) 1980 ¥ (4) 19829
In 1969, Rupee was devaluated to :

(1} help industrial development (2) check inflation

(3) improve Balance of Payments (4) help Agriculture Sector
1069 W TG99 & TaHed fewan T o

(1) irefivs fawme ) werEd % fow (2) T Wi T & forg
(3) TOA TReE W gER % fw (4) F & w werEw & g
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147.In India, the investment limit fixed for Micro or Tiny Enterprises on
2nd October 2000, is :

(1) {10Lakh (2) §25Lakh (3) }75Lakh  (4) ¥1 Crore

2 SR, 2000 F T4 F T, Fau I N fafrin @ g
(1) {l0@m@ (2 fos@m@ (3) jrsam@ (4) (1EAE

148.The Slogan at "Inclusive Growth' is related with :

{1) 9th Five Year Plan (2) 10th Five Year Plan
(3) 11th Five Year Plan {4) 12th Five Year Plan
T fae AN g

(1) el gerendtar g (2) <Rl gEa€E A |

(3} TEREE d9aYg Ao 8 (4) aRES =EHy G |

149,R.B.1. supported 'microfinance’ is related with :
(1} Finance for rural people {2) Finance for urban people
{3} Finance for Small Enterprises{4} Finance for poor

AR TR ZA Tuida ‘Qewrfad’ & @i
(1) T & % fae fom 9 (2) W& & & o fag @

(3) oY SWHA! & foau fag 4 (4) TR & faq fag @
150.NABARD was established in the year :

(1) 1969 (2) 1975 (3) 1982 (4) 1985

‘Frare’ Fit Te g3 o, 9

(1) 1969 H (2) 1975 " (3) 1982 H (4) 1985 H
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ROUGH WORK
T
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aafgat & fore o
. (mgﬁawa\;mmgswmm-w%aﬁgﬁ'w
Faer Aiel-wret arT-wnge 97 ] 8 )
T e frem & 10.fie 3 ot & 3@ 3 fr wews # ot ys A § et @
97 21 T &1 [ Jage T I W §EE GEAT qeprer wal- e i I Tl
TI9T F gEd I I =
e o | mmmw%aﬁﬁw fﬁ@mmraﬁ'{*ﬁqmmma
¥ T
Fo-u Jperr @ oy ey 1 38 3 A Mg v 7 & w0 mm—w?ﬂﬁwm;
FFaET IUT-UF T & JeareT fwar
3T STRAIS a7 IT-UF 1 KA TIH SFTW-YS | 49 § Freffar o w @)
IN-9F & NN U 9T 87 & A Sgwwia frafiia @y o el war I B2 g9 &
gy w31 Wgl-WEl EAvaE g qBl NIA-QIAFT F FAE T4 W W T AHaq @

oY e

dlo QAo FMo UF U7 JFHAIH WEW, WITYRAF! TON T Hz wUW (W WY &) am
RYIGReTaHT 4T AFHAE I 3o Q'J-To HTo U GEHT w1 AT ¥ saftvieny w1 Il
&

mmﬁawﬂaﬁaﬁmﬁﬁmmmmwmw @& fea
qIET HT TGIT A WG |

7v7- gt & wcde wev & are dafaw I 164 14 &1 e wvw & deime I 3 g
Jraet u7-uy 7 gy o & 9 {E 78 3w &1 J90-07 & 4w g 9T Gl R

- N & arpere &7 @ maT HEA #

T N9 % I % (0L 39 0F & g9 & T U T | 374 g9 H WM A
R G TF J9 & YO W T &g IS T A I

T & 1 U@ A W@E G ST Jv aqen g1 o WHar §1 A A9 156 9T 7T I
78t 271 argd 8, @ warda ufE & g 79 13w gul & arel oty & @ A =
FF fad wrat
wwﬁ%fﬁqw—g@m%wamwwmm—gﬁm%aﬁvw
AT H

e & YU %aaa?qvm'm-wqﬁwwﬁmm%t

e T B ¥ Uget TOuT 9ad ® K 9 @ SR T8 e

ofe &g argelf wen & e wudl & @ S &, ) 98 favafares g fuife
dg myat, auit e .
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